


This material is provided for information only and is not an offer to sell or the solicitation of an offer to
buy any financial instrument or asset class

This material does not and is not intended to take into account the particular financial conditions,
investment objectives or requirements of individual customers. Before acting on this material, you

should consider whether it is suitable for your particular circumstances and, as necessary, seek
professional advice.

FundSeeder Technologies is not affiliated with Interactive Brokers LLC, or any other FINRA broker-
dealer.

The information provided in this presentation is believed to be accurate, but the accuracy and
completeness of the information is not guaranteed.

Past performance is not indicative of future results.
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Risk is denomination of return

System A 10 5 2
System B 25 25 !

Assume no hidden risk and standard deviation a reasonable proxy for risk

But what if you are risk-tolerant and the higher return is more important?

45> FUNDSEEDER



System A 10 5 2
System B 25 25 1
System A 3X 30 15 2

Comparing returns without risk is as meaningless as comparing international
hotel prices without the currency denomination

Risk is the denomination of return
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Two Paths to Return
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Doubling Exposure of Lower

Risk System
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O A measure of dispersion

O If returns normally distributed, 95% of returns will be within 2 standard deviations of
mean

O For example, if average annual return is 15%, then 95% of the time we would expect
return to be in range of:

For SD = 20; -25 and +55
For SD = 5; +5 and +25
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Sharpe Ratio = (R — 1)/ SD, where s sH
O R =return | ARP

O | = risk free interest rate

O SD = standard deviation
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O Sortino Ratio: Uses DD instead of SD as risk measure
O Calmar and MAR Ratios: Uses MD as risk measure

g Gain to Pain Ratio: Sum of Returns/ Sum of Losses
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FundSeeder
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O The FundSeeder Concept

O FundSeeder.com

Jack Schwager
jschwager@fundseeder.com
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http://www.fundseeder.com/
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